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Snodule modesss (clock, reset,OUT) ;
input clock,reset;
output OUIL;
reqg QUT;
req [9:0]4;
alwaysk {posedge clock,negedge reset)
= begin
CUT=A[9];
if(!reset):
else 1f (A==10'd554)4<=0;
else A<=R+1;
end
endmodule

i Inodule mode22s (clock, reset A, OUT);
2 input clock,rezet;
2 output [T7:0]4;
4 reg [7:0]&;
5 output OUT;
6 req OUT;
7 always@ (posedge clock,negedge reset)
E B begin
g OUT=A[7]:
10 if{!rezet);
11 else 1f (A==0"'d224)A<=0;
1z else A<=A+1;
13 end
14 endmodule



46 T'd4 tout=8"d0; ER.bdi* I B mods555 B mode225
- a7 71ds tout=8'do; P s e o L
1 =g { a8 71dé tout=8'd0; EP) 6'd53  :out=8'd0;
2 nput clk, reset; ag 7147 iout=8'd0; 95 6'as4
3 output [T:0]out: 50 T1d8 rout=8"'d0: 3 L 6'dss zout=8'd0;
4 reg [3:0]31;,;; 51 71d8 rout=8"'do; a7 6'd56 :out=8"'d0;
5 reg [6:0]cunt; 52 7'd10  :out=8'd0; i 22 :,32; fozit:,zgf
& reg [T:0]out; 53 7rdll fout=2'do; i 100 &' 50 :Z'jé;;'do:
7 reg [3:010Q: 54 7rdls rour=&'d0; . 101 €'d60  :ouc=8'd0:
A reg a: 55 T'dis tout=8"'d0; 102 6'd61 :out=8'd0:
9 alwaysE (posedge clk,negedge reset) 56 7rdis zout=8'do; | TIE g8rdez Foue=srdo;
i -p L) r a o 57 T7rdlé tout=8"d0; 5 104 6'de3 tout=8"'d0;
10 = beg:u_'; ca 71417 cout=28"d0; 105 6'd64 touc=8'do;
11 if('reset) Q<=4'4d0; 5 7rd1s tout=8"'d0; 106 6'd6S touc=8'd0;
12 else if (g==4'd9) &0 7'd1s  :out=8'd0; AN ioa SooE el
13 = begin &1 7rdzo tout=8'd0; i Tos e
14 QRe=4"do0; &2 7rdzl rout=5'do; [ 110 6'd69  :out=8'd0;
15 s=1: 63 7'dzz rout=&8'd0; 111 €'d70 rouc=8'do;
16 =nd - a4 T'd23 tout=8"'d0; 112 6'd71 ouc=8"d0;
17 else 65 T7'd24 tout=8'd0; 113 6'd72 :out=8'do;
a7 - beoin 66 7'dz25 tout=&"'d0; 114 6'd73 tout=8"'d0;
g - &7 T7'd2é tout=8"'d0; s E:d:& :D:thi:dg:
19 e=0+1; e Trd3T souT=g'do: 116 Sld;é .om?.d_,
20 =0 . ) o } 117 e'd77 rout=8"'d0;
. (5] T'd2e tout=8"'d0; - - e -
21 end — — - . - | 1
n - — n L] — e
T rra2s rous=Etdos - {ER.bdrF | 45 modeS55.y | 4 mode225.,
22 end 71 T'd30 rouc=8"'d0: = ,
23 =S ralways@ (sw) T2 T'd3l rouc=E"'d0; 120 &'d80 rout=8"'d1;
24 begin T3 T'd32 tout=8"d0; 121 6"'dB1l tout=8'dl;
25 case (3w) T4 Tra33 rouc=8"'d0: 122 1482 samt=2141 -
26 4'd0:outc=8"d90; 75 T'd34 tout=8"'d0.; - e — '
- 1= aen . fomETE any 123 §'dB3  :out=8'dl;
ton 8 H Te T'd35 rout=E8"'d0; AR [ —— .
. ¢ = . 124 & "dE4 tout=4'dl;
28 defaunlt:ouc=E"b00000000 ; 77 T'436 sout=8"d0: - ) .
a9 Endcaae 125 6 "dES touc=8"dl;
! 78 T'd3T rout=28'd0; A T Lo
30 end*/ =g 2r43a : cur=3'dn 126 6'dBéa rout=8"dl;
31 always@_;pnsedge R3] ynegedge reset) 80 71439 : out=2'do; iz; Z:Zi: Dazii:gi,
gz - 1}EQ-:“-:i.Lf 'reset £1 7as0 FouE=Etdo: 129 E'd:; :D'J _:'dl"
s Cre=er) 22 7'd41  :out=8'do; o omETE AL
- P , a3 Tr 443 :out=2'd0o; 130 &'da0 tout=g"'dl;
) else if (cunt==7'd93) \ . R 131 £1dal rout=8'd1;
36 cnte=7"do - 84 T'd43 tout=3"'4d0;
- n > - 1 = 1 -
37 glse cunt<=cunt+l; 85 T'd44 tout=8"d0; 132 6'd52 rout=8"'dl;
ag end 86 7'd45  :ouc=8'd0; L §'d33  :our=E'dil;
39 always@ (cunt)| 87 T'd4e rout=8"'d0; Az §1ds4 rout=8tdi;
a0 = begin 8g T 447 fout=g"do; 135 6"'das rout=8"'d1l;
41 = case (cunt) RO Trd48 rouc=8'd0; 136 &6'doéa touc=8'dl;
42 7'do :out=8"'d0; 20 T'd4s rout=8"'d0; 137 6"ds7 rout=8"dl;
43 Trdil rout==8"do; 91 F#*6'd50 :out=8"'d0; 138 6'deSs rout=g'dl;*/S
g4 Trd2 roac=8 "do; 32 6'd51 tout=8"d0: 139 defaultc:out=g"'dl79;
45 Trd3 rout==_8"do0; o3 6'd52 rout=8"'d0; 140 endcase
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| 3F made5h5y | 3L modeldhy

1ER b 3 modeSss.y | 4 mods225. v B cmpy
=
1 Emodule decoder3x8(clock,reset,CHOUT); 1 dnle CImp |: E;er a5 . OUT ] .
P input clock,reset; -
3 output [7:0]CHOUT; 2 nput [T:0]3W;
4 reg [7:0]CHOUT; 3 3 input [T7:0])A5;
5 reg [2:0]4; .
[ alwaysl (posedge clock,negedge reset) 4 output CuT:
7 B begin o reqg [T:0]SHW1r
8 if('reset); & reg OUT -
g else B<=R+1; ’
10 end T alwaysiE (5W,4A5)
11 always (B . g8 B begin
12 & begin = '
132 = case (B) | 3 SW1={5W}+E"'d45;
14 3'd0:CHOUT=8"'b00000001; 10 if (SW1>L3) QUT=L1:
15 3'dl;CHOUT=8"'b00000010;
16 3'd2 : CHOUT=8'b00000100; 11 else OUT=0;
17 3143: CHOUT=8'b00001000; 12 end
18 3'd4:CHOUT=8'h00010000;
19 3'd5: CHOUT=8'h00100000; 13 sndmodule
20 3'd6: CHOUT=28'b01000000;
21 default:CHOUT=8'b10000000;
22 endcase
23 end g
24 endmodule
4| i
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